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Illustrations

1. Draw two concentric circles of radius 3.5 cm

and 5 cm. Label point P in exterior of bigger

circle and smaller circle.

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_A5P34li7JuAd


Watch Video Solution

2. Draw a line segment of measure 6.8 cm

using ruler.

Watch Video Solution

3. Construct  of length 5.6 cm. From A cut

off  as 2.3 cm. Now measure  with ruler.

Watch Video Solution

¯̄̄ ¯̄¯AB

¯̄̄ ¯̄¯AC ¯̄̄ ¯̄¯BC

https://dl.doubtnut.com/l/_A5P34li7JuAd
https://dl.doubtnut.com/l/_rlm2PTt0yRMG
https://dl.doubtnut.com/l/_zaMsEYU5Smru
https://dl.doubtnut.com/l/_yigPHJ9uhtZt


4. Draw a line segment PQ of length 10 cm.

Take a point R on it at a distance 4 cm from P.

Draw a line perpendicular to  through R.

Also find 

Watch Video Solution

¯̄¯̄̄ ¯PQ

¯̄¯̄̄ ¯PQ.

5. Construct perpendicular bisector of a line

segment of length 4.2 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_yigPHJ9uhtZt
https://dl.doubtnut.com/l/_I9E6DGO2dvW6
https://dl.doubtnut.com/l/_UgvV3oxwCgij


6. Draw any line 'l'. Now take any point P not

lying on it. Construct a line perpendicular to l

and passing through point P using ruler and

compasses.

Watch Video Solution

7. Construct an angle of  using pair of

compasses.

Watch Video Solution

105∘

https://dl.doubtnut.com/l/_UgvV3oxwCgij
https://dl.doubtnut.com/l/_n5RGzUMRc53T


Solved Examples

1. Draw circular shape using a bangle and mark

any point P in its interior and Q is its exterior.

Watch Video Solution

2. Draw a line segment  cm using

ruler and compoasses. Draw  such that

length of  is thrice of 

Watch Video Solution

AB = 2.2

¯̄¯̄̄ ¯PQ

¯̄¯̄̄ ¯PQ ¯̄̄ ¯̄¯AB.

https://dl.doubtnut.com/l/_Y4p17ne2vm36
https://dl.doubtnut.com/l/_pnBA56tMsWBU


3. Given two line segments AB and CD with

measure 4.2 cm . Now draw a line segment of

length equal to sum of line segment AB and

CD.

Watch Video Solution

4. Find mid point of a line segment of length

6.8 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_bYZ0DAbF2hof
https://dl.doubtnut.com/l/_wHVyYmLTrMYY
https://dl.doubtnut.com/l/_AbgwhgU0P9D0


5. Draw a circle of any radius with diamtter AB.

Draw perpendicular bisector XY of AB. What do

you call the point where XY meets AB ?

Watch Video Solution

6. Draw a line segment PQ = 8 cm. Using ruler

and compass, obtain a line segment of length

(PQ).

Watch Video Solution

3

4

https://dl.doubtnut.com/l/_AbgwhgU0P9D0
https://dl.doubtnut.com/l/_BN06GIw00ptV
https://dl.doubtnut.com/l/_qKMmN1fGP9v7


Ncert Section Exercise 14 1

7. Draw  and divide it in four

equal parts. What will be the measure of each

angle ?

Watch Video Solution

∠XY Z = 80∘

8. Draw an angle of  using ruler and

compasses.

Watch Video Solution

135∘

https://dl.doubtnut.com/l/_qKMmN1fGP9v7
https://dl.doubtnut.com/l/_ParmIjG1Wo2Q
https://dl.doubtnut.com/l/_VhOuNhG8LeSy


1. Draw a circle of radius 3.2 cm .

Watch Video Solution

2. With the same centre O, draw two circles of

radii 4 cm and 2.5 cm.

Watch Video Solution

3. Draw a circle and any two of its diameters. If

you join the ends of these diameters, what is

https://dl.doubtnut.com/l/_VhOuNhG8LeSy
https://dl.doubtnut.com/l/_ysZA7rPhAjJw
https://dl.doubtnut.com/l/_OijbPDvIfpLh


the figure obtained ? What figure is obtained

if the diameters are perpendicular to each

other ? How do you check you answer ?

Watch Video Solution

4. Draw any circle and mark points A such that 

A is on the circle.

Watch Video Solution

https://dl.doubtnut.com/l/_OijbPDvIfpLh
https://dl.doubtnut.com/l/_JyfjALCyxOlU


5. Draw any circle and mark points B such that 

B is in the interior of the circle

Watch Video Solution

6. Draw any circle and mark points C such that 

C is in the exterior of the circle.

Watch Video Solution

https://dl.doubtnut.com/l/_X42NypUSU00L
https://dl.doubtnut.com/l/_cQn1e8sclkLa


Ncert Section Exercise 14 2

7. Let A, B the centres of two circles of equal

radii, draw them so that ecah one of them

passes through the centre of the other. Let

them intersect at C and D. Examine whether

 are at right angles.

Watch Video Solution

¯̄̄ ¯̄¯AB and ¯̄¯̄¯̄CD

https://dl.doubtnut.com/l/_Sr2kqeTIBk95


1. Draw a line segment of length 7.3 cm using a

ruler.

Watch Video Solution

2. Construct a line segment of length 5.6 cm

ruler and compasses.

Watch Video Solution

https://dl.doubtnut.com/l/_4u8q9alPQrzC
https://dl.doubtnut.com/l/_fU6ddGOgJrPG


3. Construct  of length 7.8 cm. From this,

cut off  of length 4.7 cm. Measure 

Watch Video Solution

¯̄̄ ¯̄¯AB

¯̄̄ ¯̄¯AC ¯̄̄ ¯̄¯BC.

4. Given  of length 3.9 cm, construct 

such that the length of  is twice that of 

 Verify by measurement . 


Watch Video Solution

¯̄̄ ¯̄¯AB ¯̄¯̄̄ ¯PQ

¯̄¯̄̄ ¯PQ

¯̄̄ ¯̄¯AB.

https://dl.doubtnut.com/l/_szcl95u4P1JI
https://dl.doubtnut.com/l/_O9gmVvlXX0LC
https://dl.doubtnut.com/l/_Uuh8gNGxLHex


Ncert Section Exercise 14 3

5. Given  of length 7.3 cm and  of

length 3.4 cm, construct a line segment 

such that the length of  is equal to the

difference beetween the lengths of

 Verify by measurement.

Watch Video Solution

¯̄̄ ¯̄¯AB ¯̄¯̄¯̄CD

¯̄¯̄¯̄XY

¯̄¯̄¯̄XY

¯̄̄ ¯̄¯AB and ¯̄¯̄¯̄CD.

https://dl.doubtnut.com/l/_Uuh8gNGxLHex


Ncert Section Exercise 14 4

1. Draw any line segment  without

measuring  construct a copy of 

Watch Video Solution

¯̄¯̄̄ ¯PQ.

¯̄¯̄̄ ¯PQ ¯̄¯̄̄ ¯PQ.

2. Given some line segmet  whose length

you do know, construct  such that the

length of  is twice that of 

Watch Video Solution

¯̄̄ ¯̄¯AB,

¯̄¯̄̄ ¯PQ

¯̄¯̄̄ ¯PQ ¯̄̄ ¯̄¯AB.

https://dl.doubtnut.com/l/_0Lnyj0ZtypFy
https://dl.doubtnut.com/l/_5zLkFObjsw08


1. Draw any line segment  Mark any point

M on it. Through M, draw a perpendicular to

 (use ruler and compasses)

Watch Video Solution

¯̄̄ ¯̄¯AB.

¯̄̄ ¯̄¯AB.

2. Draw any line segment  Take any point

R not on it. Through R, draw a perpendicular

to  (use ruler and set-square)

Watch Video Solution

¯̄¯̄̄ ¯PQ.

¯̄¯̄̄ ¯PQ

https://dl.doubtnut.com/l/_Vkme8Lc8Ovkd
https://dl.doubtnut.com/l/_qLfgzocmWsvo


Ncert Section Exercise 14 5

3. Draw a line l and a point X on it. Through X,

draw a line segment  perpendicular to l.

Now draw a perpendicular to  at Y. (use

ruler and compasses)

Watch Video Solution

¯̄¯̄¯̄XY

¯̄¯̄¯̄XY .

1. Draw  of length 7.3 cm and find its axis of

symmetry.

¯̄̄ ¯̄¯AV

https://dl.doubtnut.com/l/_d8FHv3fKCHMz
https://dl.doubtnut.com/l/_AN79JAH2Xtdo


Watch Video Solution

2. Draw a line segment of length 9.5 cm and

construct its perpendicular bisector.

Watch Video Solution

3. Draw the perpendicular bisector of 

whose length is 10.3 cm. 

Take any point P on the bisector drawn.

Examine whether PX = PY.

Watch Video Solution

¯̄¯̄¯̄XY

https://dl.doubtnut.com/l/_AN79JAH2Xtdo
https://dl.doubtnut.com/l/_ejsmc9T9rEzw
https://dl.doubtnut.com/l/_3I4xDRl3b7Tx


4. Draw the perpendicular bisector of 

whose length is 10.3 cm. 

If M is the mid point of  what can you say

about the lengths MX and XY ?

Watch Video Solution

¯̄¯̄¯̄XY

¯̄¯̄¯̄XY

5. Draw a line segment of length 12.8 cm .

Using compasses, divide it into four equal

parts. Verify by actual measurement.

https://dl.doubtnut.com/l/_3I4xDRl3b7Tx
https://dl.doubtnut.com/l/_DawkVF1oij59
https://dl.doubtnut.com/l/_MumysCPWsZmA


Watch Video Solution

6. With  of length 6.1 cm as diameter, draw

a circle.

Watch Video Solution

PQ

7. Draw a circle with centre C and radis 3.4 cm .

Draw any chord  Construct the

perpendicular bisector of  and examine if

it passes through C.

¯̄̄ ¯̄¯AB.

¯̄̄ ¯̄¯AB.

https://dl.doubtnut.com/l/_MumysCPWsZmA
https://dl.doubtnut.com/l/_1pFa0152hhFW
https://dl.doubtnut.com/l/_HJArUYST4sm6


Watch Video Solution

8. Draw a line segment XY as the diameter of a

circle .

Watch Video Solution

9. Draw a circle of radius4 cm Draw any two of

its chords. Construct the perpendicular

bisectors of these chords. Where do they meet

?

Watch Video Solution

https://dl.doubtnut.com/l/_HJArUYST4sm6
https://dl.doubtnut.com/l/_7na9r9vefsGj
https://dl.doubtnut.com/l/_fX7JWs1qtzVG


Ncert Section Exercise 14 6

10. Draw any angle with vertex O Take a point A

on one of its arms and B on another such that

OA = OB. Draw the perpendicular bisectors of

 and  Let them meet at P. Is PA = PB ?

Watch Video Solution

¯̄̄ ¯̄¯OA ¯̄̄ ¯̄¯OB.

https://dl.doubtnut.com/l/_fX7JWs1qtzVG
https://dl.doubtnut.com/l/_TeWAuxFBP8u3


1. Draw  of measure  and find its

line of symmetry.

Watch Video Solution

∠POQ 75∘

2. Draw an angle of measure  and

construct its bisector.

Watch Video Solution

147∘

https://dl.doubtnut.com/l/_7c7fPkH00Dle
https://dl.doubtnut.com/l/_wVhgcJ39IZj7


3. Draw a right angle and construct its

bisector.

Watch Video Solution

4. Draw an angle of measure  and divide

it info four equal parts.

Watch Video Solution

153∘

https://dl.doubtnut.com/l/_Q0LbASr6Q67i
https://dl.doubtnut.com/l/_urJp1oz6Sq3i


5. Construct with ruler and compasses, angle

of measure: 

Watch Video Solution

60∘

6. Construct with ruler and compasses, angle

of measure: 

Watch Video Solution

30∘

https://dl.doubtnut.com/l/_KHl5atQXGYHP
https://dl.doubtnut.com/l/_G9lA5wp1HAG8
https://dl.doubtnut.com/l/_yXXWXV6icJ48


7. Construct with ruler and compasses, angle

of measure: 

Watch Video Solution

90∘

8. Construct with ruler and compasses, angle

of measure: 

Watch Video Solution

120∘

https://dl.doubtnut.com/l/_yXXWXV6icJ48
https://dl.doubtnut.com/l/_e4z3PYWPY522
https://dl.doubtnut.com/l/_KIXSABg9nxaR


9. Construct with ruler and compasses, angle

of measure: 

Watch Video Solution

45∘

10. Construct with ruler and compasses, angle

of measure: 

Watch Video Solution

135∘

https://dl.doubtnut.com/l/_KIXSABg9nxaR
https://dl.doubtnut.com/l/_hMRco2Rmp2W8


11. Draw an angle of measure  and bisect it.

Watch Video Solution

45∘

12. Draw an angle of measure  and bisect

it.

Watch Video Solution

135∘

13. Draw an angle of  Make a copy of it

using only a straight edge compasses.

70∘ .

https://dl.doubtnut.com/l/_ovgzqeuN6sk4
https://dl.doubtnut.com/l/_6u4gbdwpgYCp
https://dl.doubtnut.com/l/_7BLBez7kBe5E


Exercise Multiple Choice Questions Level 1

View Text Solution

14. Draw an angle of  Copy its

supplementary angle.

Watch Video Solution

40∘ .

1. If two line segments cut each other at right

angles then they are ____.

https://dl.doubtnut.com/l/_7BLBez7kBe5E
https://dl.doubtnut.com/l/_SwDxVgo3XyZE
https://dl.doubtnut.com/l/_V3Dwqi40m5cY


A. Parallel

B. Perpendicular

C. Both (a) and (b)

D. None of these

Answer: B

Watch Video Solution

2. _______ is used to draw and measure an

angle.

https://dl.doubtnut.com/l/_V3Dwqi40m5cY
https://dl.doubtnut.com/l/_pprPjr1NYD7K


A. Protractor

B. Ruler

C. Compasses

D. None of these

Answer: A

Watch Video Solution

3. The instrument in the geometry box having

the shape of a triangle is called a

https://dl.doubtnut.com/l/_pprPjr1NYD7K
https://dl.doubtnut.com/l/_GPfzE9CvAb4r


A. Divider

B. Ruler

C. Pair of compasses

D. Set squares

Answer: D

Watch Video Solution

4. Which is used to draw line segments and to

measure their lengths ?

https://dl.doubtnut.com/l/_GPfzE9CvAb4r
https://dl.doubtnut.com/l/_4xnzCBWOzcvS


A. Set squares

B. Protractor

C. Ruler

D. None of these

Answer: C

Watch Video Solution

5. If we bisect an angle of a rectangle, we get 2

angles each of ______

https://dl.doubtnut.com/l/_4xnzCBWOzcvS
https://dl.doubtnut.com/l/_ZzEAfSORJP8Q


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

45∘

30∘

60∘

15∘

6. AB is of length 7.5 cm. From A an arc of 5.9

cm is cut off. Find measure PB . 

https://dl.doubtnut.com/l/_ZzEAfSORJP8Q
https://dl.doubtnut.com/l/_letvpOz8dkX3


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1.4cm

1.6cm

2.5cm

1.8cm

https://dl.doubtnut.com/l/_letvpOz8dkX3


7. If we bisect  then what will be

length of each part ?

A. 4 cm

B. 3.2 cm

C. 2 cm

D. None of these

Answer: A

Watch Video Solution

¯̄¯̄̄ ¯PQ = 8cm,

https://dl.doubtnut.com/l/_7qQZCtT5MuMh
https://dl.doubtnut.com/l/_cNCaEpYrolCP


8. Given figure shown an angle of ______ 

A. 

B. 

C. 

D. 

90∘

45
∘

60∘

120∘

https://dl.doubtnut.com/l/_cNCaEpYrolCP


Answer: C

Watch Video Solution

9. Concentric circles have different radii but

same ____

A. Centre

B. Chord

C. Diamater

D. None of these

https://dl.doubtnut.com/l/_cNCaEpYrolCP
https://dl.doubtnut.com/l/_o2n44T7ZIgKS


Answer: A

Watch Video Solution

10. Bisector of a line segment means dividing a

line segment ______

A. In two unequal halves.

B. In ratio 1:2.

C. In two equal halves.

D. None of these

https://dl.doubtnut.com/l/_o2n44T7ZIgKS
https://dl.doubtnut.com/l/_GDAFtGCkYU0R


Answer: C

Watch Video Solution

11. Given  If we divide it inot

four equal angles then measure of each angle

∠ABC = 60∘ .

https://dl.doubtnut.com/l/_GDAFtGCkYU0R
https://dl.doubtnut.com/l/_cDH0i7EeF9Zw


would be ___. 

A. 

B. 

C. 

D. 

20∘

40∘

60∘

15∘

https://dl.doubtnut.com/l/_cDH0i7EeF9Zw


Answer: D

Watch Video Solution

12. Angle bisector of given angle can be

constructed accurately using ______

A. Pair of compasses

B. Ruler

C. Set squares

D. Divider

https://dl.doubtnut.com/l/_cDH0i7EeF9Zw
https://dl.doubtnut.com/l/_hKpooZ5KiqKF


Answer: A

Watch Video Solution

13. Measure of  equals ____. 


A. 

∠XQR

30∘

https://dl.doubtnut.com/l/_hKpooZ5KiqKF
https://dl.doubtnut.com/l/_f5pE7CfkU2cx


B. 

C. 

D. 

Answer: D

Watch Video Solution

90∘

15∘

45∘

14. Which of the following is the most

accureate method to copy a given line

segment ?

https://dl.doubtnut.com/l/_f5pE7CfkU2cx
https://dl.doubtnut.com/l/_6bhirZUpydOs


A. Trace method

B. Ruler and compasses

C. Protractor

D. Divider only

Answer: B

Watch Video Solution

15. Two lines are said to be perpendicular if

angle between them is _____

https://dl.doubtnut.com/l/_6bhirZUpydOs
https://dl.doubtnut.com/l/_0pJT8xiihNxw


A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

90∘

45∘

30∘

16. The instrument used to draw a circle of

given radius is ______

https://dl.doubtnut.com/l/_0pJT8xiihNxw
https://dl.doubtnut.com/l/_1MJFc89uPSFv


A. Compasses

B. Divider

C. Ruler

D. Set squares

Answer: A

Watch Video Solution

17. The measures of 3 diffferent angles of one

of the set squares are _____.

https://dl.doubtnut.com/l/_1MJFc89uPSFv
https://dl.doubtnut.com/l/_5EC26l3KiVVC


A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

90∘ − 45∘ − 30∘

30∘ − 90∘ − 60∘

70∘ − 50∘ − 60∘

18. A straight angle can be bisected in ____

right angles .

https://dl.doubtnut.com/l/_5EC26l3KiVVC
https://dl.doubtnut.com/l/_C23T295iEDdQ


A. 1

B. 3

C. 2

D. 4

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_C23T295iEDdQ


19. Figure shows construction of ____ to line l. 

A. Perpendicular

B. Bisector

C. Both (a) and (b)

D. None of these

https://dl.doubtnut.com/l/_1N4eeNlYPhZR


Answer: A

Watch Video Solution

20. A  is 10.2 cm long. If P is the mid point

of AB, then the length of  is ____

A. 4.8 cm

B. 8.2 cm

C. 5.1 cm

D. 5.2 cm

¯̄̄ ¯̄¯AB

¯̄̄ ¯̄¯PB

https://dl.doubtnut.com/l/_1N4eeNlYPhZR
https://dl.doubtnut.com/l/_GT15zGfzPoec


Answer: B

Watch Video Solution

21. If  bisects  of measure 

what will be the measure of 

A. 

B. 

C. 

D. 

¯̄¯̄¯̄BX ∠ABC 75∘ ,

∠ABX?

75∘

(37 )
∘

1

2

150∘

(25 )
∘

1

2

https://dl.doubtnut.com/l/_GT15zGfzPoec
https://dl.doubtnut.com/l/_GKDKHCA7LE0G


Answer: B

Watch Video Solution

22. What angle would you get if you bisect an

angle of an equilateral triangle ?

A. 

B. 

C. 

D. 

60∘

30∘

90∘

45∘

https://dl.doubtnut.com/l/_GKDKHCA7LE0G
https://dl.doubtnut.com/l/_8S3XCFwpRWDC


Answer: B

Watch Video Solution

23. Name the geometrical instrument having a

pair of pointers.

A. Set squares

B. Divider

C. Protractor

D. Compasses

https://dl.doubtnut.com/l/_8S3XCFwpRWDC
https://dl.doubtnut.com/l/_AoQ5HqIpvaQO


Answer: B

Watch Video Solution

24. A _____ is a simple closed curve, all of whose

points are at the same distance from a fixed

point.

A. Diameter

B. Radius

C. Triangle

D. Circle

https://dl.doubtnut.com/l/_AoQ5HqIpvaQO
https://dl.doubtnut.com/l/_mo5eRfBziPjo


Answer: D

Watch Video Solution

25. If we bisect an angle of a square, we get

two angles of measure

A. less than 

B. 

C. 

D. 

45∘

60∘ , 30∘

45∘ , 45∘

75∘ , 15∘

https://dl.doubtnut.com/l/_mo5eRfBziPjo
https://dl.doubtnut.com/l/_OYvsqEamAQsQ


Answer: C

Watch Video Solution

26. Following are steps while constructing a

line segment of length 5 cm using ruler. Which

of the following steps is incorrect? 

Step-1: First mark a point A on paper. 

Step-2: Place a ruler in such a way that its zero

point coincide with point A. 

Step-3 : Draw a line from the point A of the

measure of 4.5 cm on the ruler. 

https://dl.doubtnut.com/l/_OYvsqEamAQsQ
https://dl.doubtnut.com/l/_vKohauliLv4y


Step-4: Now, name the end point as Q. 

Step-5: AB is the required line segment.

A. Step-1

B. Step-3

C. Step-3 and Step-4

D. None of these

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_vKohauliLv4y


27. Arrange the following steps to construct

an angle of  


Step-1 : Again, with C as centre, without

changing the radius, draw one more arc. Both

arcs intersect at D. 

Step-2 : Draw a ray OD with O as initial point

through the point D. Now, measure of




. Step-3: Draw a ray OA. 

Step-4 : Now, without changing the radius,

keeping B as centre, draw an arc. Both the arcs

intersect at a point C. 

120∘

∠DOA = 120∘

https://dl.doubtnut.com/l/_jbufLTeGc8A2


Step-5: With O as centre, draw an arc cutting

OA at B.

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

3 → 4 → 5 → 1 → 2

3 → 5 → 4 → 1 → 2

3 → 4 → 5 → 2 → 1

2 → 1 → 4 → 5 → 3

https://dl.doubtnut.com/l/_jbufLTeGc8A2


28. Arrange the following steps to construct

perpendicular bisector of line segment AB. 

Step-1 : With the same radius and with B as

centre, draw another circle using compasses,

which cuts the previous circle at X and Y. 

Step-2: Join  Now  is the required

perpendicular bisector of 


Step-3: Draw  of any length. 

Step-4: With A as centre, using compasses,

draw a circle. The radius of the circle should be

more than half the length of 

¯̄¯̄¯̄¯̄XY . ¯̄¯̄¯̄XY

¯̄̄ ¯̄¯AB.

¯̄̄ ¯̄¯AB

¯̄̄ ¯̄¯AB.

https://dl.doubtnut.com/l/_GDDssecLg4nE


A. 

B. 

C. 

D. 

Answer: D

View Text Solution

2 → 1 → 4 → 3

1 → 4 → 2 → 3

1 → 4 → 3 → 2

3 → 4 → 1 → 2

29. Following are the steps while constructing

a perpendicular to a line 'l' through a point 'P'

not on it. Out of these one of the steps is

https://dl.doubtnut.com/l/_GDDssecLg4nE
https://dl.doubtnut.com/l/_E60m8UgtwxLG


incorrect. Select the incorrect step. 

Step-1: Given a line l and a point P not on it. 

Step-2 : With P as centre, draw an arc which

intersects line l at two points L and M. 

Step-3 : With any convenient radius and with L

and Mas centres, construct two arcs that

intersect at a point, say Q, on the other side. 

Step-4 : Join PQ.

A. Step-1

B. Step-2

C. Step-3

https://dl.doubtnut.com/l/_E60m8UgtwxLG


D. Step-4

Answer: C

View Text Solution

30. If YA = AB, then measure of  equals 


Watch Video Solution

∠XY C

https://dl.doubtnut.com/l/_E60m8UgtwxLG
https://dl.doubtnut.com/l/_UeKeV0Zbq1sQ


Exercise Multiple Choice Questions Level 2

1. To draw a peprendicular bisecto of a line

segment AB, first draw a circle by taking ____ as

centre and radius ___ AB.

A. A, less then half

B. Mid-point of AB equal

C. B, less then half

D. A or B, more than half

https://dl.doubtnut.com/l/_UeKeV0Zbq1sQ
https://dl.doubtnut.com/l/_jXcSKUlQFcwe


Answer: D

Watch Video Solution

2. Which of the following angles cannot be

made using a ruler and a pair of compasses ?

A. 

B. 

C. 

D. 

105∘

75∘

130∘

15∘

https://dl.doubtnut.com/l/_jXcSKUlQFcwe
https://dl.doubtnut.com/l/_oDEGkNBALLju


Answer: C

Watch Video Solution

3. When you bisect an obtuse angle, it divides

the angle in two ____

A. Acute angles

B. Obtuse angles

C. Right angles

D. None of these

https://dl.doubtnut.com/l/_oDEGkNBALLju
https://dl.doubtnut.com/l/_fS4uRTpjx8Is


Answer: A

Watch Video Solution

4. How many peprndiculars can be drawn to a

given line passing through given point not

lying on it ?

A. 0

B. 1

C. 2

D. infinite

https://dl.doubtnut.com/l/_fS4uRTpjx8Is
https://dl.doubtnut.com/l/_zLOxyvwpQykG


Answer: B

Watch Video Solution

5. Perpendicular bisector of a line segment

divides that line in _______ at an angle of _______

A. Two equal halves, 

B. Two equal halves, 

C. 

D. 

45∘

90∘

1: 2, 90∘

1: 2, 45∘

https://dl.doubtnut.com/l/_zLOxyvwpQykG
https://dl.doubtnut.com/l/_kY2ZOBJU5RGm


Exercise Matching

Answer: B

Watch Video Solution

1. Match the following 

 


https://dl.doubtnut.com/l/_kY2ZOBJU5RGm
https://dl.doubtnut.com/l/_7q5MF4V6boJ1


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

P − 2, Q − 1, R − 4, S − 3

P − 4, Q − 1, R − 2, S − 3

P − 1, Q − 2, R − 3, S − 4

P − 1, Q − 4, R − 2, S − 3

https://dl.doubtnut.com/l/_7q5MF4V6boJ1


Exercise Assertion Reason Type

1. Assertion : To construct an angle of  we

first draw angle of  and then bisect it

using ruler and pair of compasses. 

Reason :  is multiple of angle of So, it

can be drawn using ruler and pair of

compasses.

45
∘

90∘

45
∘

15∘ .

https://dl.doubtnut.com/l/_7q5MF4V6boJ1
https://dl.doubtnut.com/l/_np587YiXP8WS


A. If both assertion and reason are true

and reason is the correct explanation of

assertion.

B. If both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_np587YiXP8WS


2. Assertion : Line segment of length 5 cm can

be constructed using ruler only. 

Reason : We can construct any line segment

using ruler.

A. If both assertion and reason are true

and reason is the correct explanation of

assertion.

B. If both assertion and reason are true but

reason is not the correct explanation of

https://dl.doubtnut.com/l/_np587YiXP8WS
https://dl.doubtnut.com/l/_V3jt3EvGwLtr


Exercise Subjective Problems Very Short Answer

Type

assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_V3jt3EvGwLtr


1. With the help of a ruler construct line

segment AB of length 

6.4 cm

Watch Video Solution

2. With the help of a ruler construct line

segment AB of length 

7.8 cm

Watch Video Solution

https://dl.doubtnut.com/l/_IFQ8BxKzL9kp
https://dl.doubtnut.com/l/_jDRu1IaIeY1M
https://dl.doubtnut.com/l/_PS0Ca87ekiD0


3. Draw circle of radius 3.7 cm .

Watch Video Solution

4. With O as a same centre, draw two circles of

radii 3 cm and 5 cm.

Watch Video Solution

5. If AB = 4.8 cm and CD = 2.8 cm, construct a

line segment whose length is AB-CD.

https://dl.doubtnut.com/l/_PS0Ca87ekiD0
https://dl.doubtnut.com/l/_2bEVC4R3827t
https://dl.doubtnut.com/l/_56UV9xKR6Xpz


Exercise Subjective Problems Short Answer Type

Watch Video Solution

6. If P is the mid point of line segment AB ,

then what is the relation between AP an PB ?

Watch Video Solution

1. Construct a line segment AB = 8.9 cm.

Construct another segment AC such that C lies

https://dl.doubtnut.com/l/_56UV9xKR6Xpz
https://dl.doubtnut.com/l/_dWfNU6P8rGSR
https://dl.doubtnut.com/l/_3T1IAH3rhevQ


on AB and AC = 3.8 cm. Measure the length of

the remaining line segment.

Watch Video Solution

2. Draw an angle of measure  and divide it

into four equal parts.

Watch Video Solution

155∘

3. Draw a line segment PQ of length 5.4 cm.

Take a point R on it such that PR = 2.4 cm. Now

https://dl.doubtnut.com/l/_3T1IAH3rhevQ
https://dl.doubtnut.com/l/_Ccu3SXgaAeS3
https://dl.doubtnut.com/l/_PKNgEX8PmFFw


draw a perpendicular to PQ passing through R.

Watch Video Solution

4. Draw a circle taking line segment of length

4.4 cm as its diameter.

Watch Video Solution

5. Construct  with help of ruler

and compasses , draw a ray bisecting 

Watch Video Solution

∠AOB = 90∘

∠AOB.

https://dl.doubtnut.com/l/_PKNgEX8PmFFw
https://dl.doubtnut.com/l/_lG9dPUSD0oAO
https://dl.doubtnut.com/l/_dmBP9eIliv9A


Exercise Subjective Problems Long Answer Type

1. Draw angle of  using compasses.

Watch Video Solution

67.5∘

2. Divide the line segment of length 8.4 cm

into four equal parts using compasses.

Watch Video Solution

https://dl.doubtnut.com/l/_dmBP9eIliv9A
https://dl.doubtnut.com/l/_znYFmBLlk3Pp
https://dl.doubtnut.com/l/_8URZnaDE7EWi
https://dl.doubtnut.com/l/_u6oFOEWpnpjQ


3. Draw line segments AB and CD of lengths 5.5

cm and 2.5 cm respectively. Construct a

segment whose length equals 

Watch Video Solution

3̄ ¯̄̄ ¯̄AB − 4̄ ¯̄¯̄¯CD.

4. Draw perpendicular bisector of line segment

AB = 7.5 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_u6oFOEWpnpjQ
https://dl.doubtnut.com/l/_hqUUQ589Qu86


5. Bisect a straight angle, using ruler and

compasses. Measure each part.

Watch Video Solution

https://dl.doubtnut.com/l/_79IL4maaB5YI

